
MAT 330 Lecture 18 4/1/2020

Poisson Random Variables← Use this on HW 7 #2
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parameter X > o if
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write this as : X n Poisson ( x)
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Lemme : E. ¥ - ex . E.in#=xex
Using this , we can compute :
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Var = Elk) - EAT
= 12+1 - HT - ah - 72=17
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a.Why study Pissoir random variables ?

I. They provide very good approximations to Binomial
random variables with parameters In , p) if n is large
and Mp is Madeira .
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Examples : Suppose the number of typographical errors
on a single page of a

book has Poisson distr.

w/ parameter A =L .

What is the probability that

a) A given page
contains at least 1 error ?
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⇐ 39.3%)

b) A given page
contains no more than 4 errors ?

PCXE 4) = PIX -- o) +PHD + PHE) +
RED +PHD
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